1. Create the table using the pattern below:

CS1lLab4

Table of powers

1 2 3 4
1 1 1 1
2 4 8 16
3 9 27 81

2.Create the table calculating the car prices (pick 5 models you like best):

Model Pricein$§ | Priceinzt | Vat(20%) | Priceinzt | Number of | Total cost
(net) (gross) cars (zh)
1
Do not forget about rounding off the numbers (this is NOT the same as formatting the cell) !!!!!!
3.Create the 2D function plot. Creating function plot ey — 1

contents [MODUL.LICZBY = number module] o RCE ne )/ ‘«\
Mark the area B6:B26 0200000458 Zas o ol
Activate the plot wizzard om0 heme PR RRERRAR -
Create the plot %EEE% géégg 0z |
4. Create the plot of the 3D function. i —
Insert {0, 0.2} into cells B5,C5, mark both cells and copy the content until the column J
Insert {0, 0.2} into cells A6,A7, mark both cells and copy the content until the row 14
Insert B6 {=(MODUL.LICZBY (2-($A6*$A6+ B$5* B$5))} and copy the contents to B6:J14
Mark the area A6:J14
Activate the plot wizzard
Create the surface plot
s | B c D E F G H J [k L [ M
1
| 2]
=N
L4
|5 | 0 0.2 0.4 06 0.8 1 12 14 18
|5 | 0 2 198 184 1,64 1.38 1 058 0.04 058
7 02 196 192 18 18 132 098 052 222616 06
8 | 0.4 184 18 168 148 12 084 04 012 072
| 9| 06 164 18 148 128 1 064 02 032 092
| 10| 08 136 132 12 1 072 038 008 06 12
K 1 1 095 0384 0.64 038 0 0.44 0.95 156
[12] 12 058 082 0.4 0.2 0.08 0.44 0.88 14 2
113 ] 14 0.04 222616 012 032 06 0.98 14 192 252
|14 ] 18 058 0.6 072 092 12 158 2 252 312
[15]
5.Create spreadsheet for calculating the roots of the quadratic equation.
C3 Object - Mi ft Equation 3 2 e
- Object - Microsoft Equation . . .
B7 - —d5%d5-4%b5*f5 ;_ Solving the Quadratic Equation
B9 - =JEZELI(b7>0;2;JEZELI(b7=0;1;0)) = : 2 -
F9 - =JEZELI($b$9>0;(-$d$5- i_ThE equation AxT + Bx+C =0
PIERWIASTEK($b$7)/(2*$b$5); ’brak™) e A 5= E=1
F10 - copy from F9 and modify 3
7] Defta=0
8
9 |Mumber of raots=|1 ¥l =|-1
0| %2 = brak

Insert {-2, -1.8} into cells A6, A7, mark both cells and copy
the content until the line 26
Insert B6-{=1/(MODUL.LICZBY(A6-1)+1)} and copy the

-2.0000
-1.8000
-1.6000
-1.4000
-1.2000
-1.0000
-0.8000

0.2500
0.2632
0.2778
0.2941
0.3125
0.3333
0.3571

|l —1] +1

Test function
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1.0




